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Ex A 300-Ib cable is 100 it lomj and

hangg verhca\lﬂ from the top oj a tall buildincj
How much work is requlred to hf’r the cable o the
top of the bulldmg
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Average value 0{ funchion
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Ex  Find the average volue of fla) = I%
on [1,5] .

f A4 [_'de
ove x
-1 1
et u=nx
@ =_4.. S Au—-idﬂ(
dx X X
7:4,u=|“1 '-'—'0
*=3, u;sl“g LT InS
:_L f“du = [Q_]
-FOVQ 4 4 l )

0

)
=1 (\“5)2_9_1] = 1(n5)
’t[T 2 8

THE MEAN VALUE THEOREM FOR INTEGRAIS
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GEOMETRIC INTERPRETATION

/.,azf(ob }

fx) dx = Area under
m'\\\F . the curve
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{///,//’J‘;\, Hc) (b-a) = Area of mc}ana\e

b a o b

The MVT for ‘mh%ra\ slates thot {'\or
a \)oé&ive function ‘Y JFhere exist o

aumber ¢ 6.t the rcdana\e w/ base
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Bx Lt ) = -49-‘- on [43)
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Formula for inharaﬁon l)(lj ?arls

U=f06), v =%(‘X)

du _ f'(x),dv . 3'(90
ax dx

s du={'0)dx , dv =8_‘_(Z<2A’X
/jud\l = U.N _Svo\_u R

Ex chosx 42(

— —3 = x
du 4 5 V= | cosx dx
dx
) du =A'X = Si“?(

dv = uv - |vd
juv uv Jvu/

= XoInX 'fsinx dx

= xsinX — (~cos®) +(,
= xgink +cosX + G

What if we had ricKed dlfferenHU

U=cosX ,dv = xdx
9
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. ) 9
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